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      General Instructions to Candidates :

l There is a 'Cool off time' of 15 minutes in addition to the writing time.

l Use the 'Cool off time' to get familiar with questions and to plan your
answers.

l Read the instructions carefully.

l Read the questions carefully before answering.

l Calculations, figures and graphs should be shown in the answer sheet itself.

l Give equations wherever necessary.

l Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

Part - II
SYRIAC

Maximum : 80 Scores

Time : 2½ Hours
Cool off time : 15 Minutes

Reg. No. .......................................

Name ...........................................

I. Select the appropriate word from the bracket and complete the sentences.
(4 × 1 = 4)
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II. Pointout the objects using the correct speech. (4 × 1 = 4)

(4 × 1 = 4)
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IV. Complete the sentences using the correct verbal forms from the bracket:.
(4 × 1 = 4)

III. Fill in the blanks with suitable word from the bracket.

.13
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V. Translate into English any two of the following : (2 × 2 = 4)

(4 × 2 = 8)
VI. Make meaningful sentences using the hints :

.17.17

.18

.19

.20

.18

.19

.20

.21

.22

.23

.21

.22

.23

VII. Convert the following into Syriac. Follow the example (2 × 2 = 4)

.24

a.   56

.24

25.

26.

b.   183

a.   599 b.   2021

(4 × 4 = 16)VIII. Make notes on any four of the following.

27. Development of East Syriac and West Syriac Scripts.

28. Parichamuttu Kali.

29. Seven churches founded by St. Thomas.

30. Aramaic language at the time of Jesus Christ.

31. First Syrian Immigration.
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IX. Add pronominal suffixes to any two of the following.

X. Conjugate any two of the following in the past tense.

XI. Write your appreciation on any two of the following.

(2 × 5 = 10)

(2 × 6 = 12)

(2 × 5 = 10)

.33
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.35
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.33

.34
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.38

.39

.40
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